#### **VILLAGE OF BRADLEY**

#### RESOLUTION NO. R-12-16-1

# A RESOLUTION FOR THE MAINTENANCE OF STREETS AND HIGHWAYS BY THE VILLAGE OF BRADLEY UNDER THE ILLINOIS HIGHWAY CODE

### ADOPTED BY THE BOARD OF TRUSTEES OF THE VILLAGE OF BRADLEY

THIS 12 DAY OF DECEMBER, 2016

Published in pamphlet form by the order and authority of the Board of Trustees of the Village of Bradley, Kankakee County, Illinois, this \_\_\_\_\_ day of Decraper. 2016.

**CERTIFICATE:** 

Michael J. LaGesse, Village Clerk

#### RESOLUTION NO. R-12-16-1

## A RESOLUTION FOR THE MAINTENANCE OF STREETS AND HIGHWAYS BY THE VILLAGE OF BRADLEY UNDER THE ILLINOIS HIGHWAY CODE

WHEREAS, pursuant to Article 7 ("Municipal Administration of Streets"), Division 2 ("Use of Motor Fuel Tax Funds") of the Illinois Highway Code, 605 ILCS 5/7-202, et. seq., the Village of Bradley, Kankakee County, Illinois ("Village") may use Motor Fuel Tax Funds for the purposes set forth therein; and

WHEREAS, pursuant to the applicable provisions of the Illinois Highway Code, the Village hereby appropriates the amount of Motor Fuel Tax Funds set forth in this Resolution for the Calendar year beginning on January 1, 2017, and ending on December 31, 2017.

NOW THEREFORE, BE IT RESOLVED BY THE PRESIDENT AND BOARD OF TRUSTEES OF THE VILLAGE OF BRADLEY, KANKAKEE COUNTY, ILLINOIS, BY AND PURSUANT TO ITS STATUTORY AUTHORITY, AS FOLLOWS:

SECTION 1. That the President and Board of Trustees hereby finds that all of the recitals contained in the preamble to this Resolution are true, correct and complete and are hereby incorporated by reference hereto and made a part hereof.

SECTION 2. That the Village hereby appropriates the sum of Seven Hundred and Seventy-Five Thousand Dollars and 00/100 (\$775,000.00) of Motor Fuel Tax Funds for the purpose of maintaining streets and highways under the applicable provisions of the Illinois Highway Code for the calendar year beginning on January 1, 2017, and ending on December 31, 2017.

SECTION 3. That only those streets, highways, and operations listed and described on the Village's Municipal Estimate of Maintenance Costs, including any and all supplemental or revised estimates approved in connection with this resolution (attached hereto as "Group Exhibit A" and fully incorporated herein), are eligible for maintenance with the Motor Fuel Tax Funds appropriated hereby during the period set forth in Section 2 above.

SECTION 4. That the Village Clerk, or his designee shall, as soon as practicable after the close of the period set forth in Section 2 above, submit to the Illinois Department of Transportation ("Department"), on forms furnished by said Department, a certified statement showing expenditures from and balances remaining in the accounts for the period set forth in Section 2 above.

<u>SECTION 5.</u> That the Village Clerk shall immediately transmit two (2) certified copies of this Resolution to the District office of the Department, located in Ottawa, Illinois.

SECTION 6. That in the event that any section, paragraph, clause, or provision of this Resolution shall be declared to be invalid or unenforceable by a Court of competent jurisdiction, such adjudication shall in no way affect or impair the validity or enforceability of any of the

remaining sections, paragraphs, clauses, or provisions of this Resolution that may be given effect without such invalid or unenforceable section or sections, paragraph or paragraphs, clause or clauses, or provision or provisions.

SECTION 11. That all resolutions, ordinances, motions, or parts thereof conflicting with any of the sections, paragraphs, clauses, or provisions of this Resolution shall be and are hereby repealed to the extent of the conflict.

SECTION 12. That the Village Clerk is hereby directed to publish this Resolution in pamphlet form.

SECTION 18. That this Resolution shall be in full force and effect from and after its passage, approval and publication in pamphlet form as provided by law.

PASSED by the Board of Trustees on a roll call vote on the 12 day of DECEMBER , 2016.

#### TRUSTEES:

	/	12/12	12/12/1
GERALD BALTHAZOR	Aye –	Nay –	Absent –
ROBERT REDMOND	Aye – _ V	Nay –	Absent –
LORI GABOID	Aye – _ 🗸	Nay –	Absent –
MICHAEL WATSON	Aye – _ ✓	Nay –	Absent –
ERIC CYR	Aye –	Nay –	Absent –
MELISSA CARRICO	Aye –	Nay –	Absent –
BRUCE ADAMS	Aye –	Nay –	Absent –
	5-		149
TOTALS:	Aye –	Nay	Absent –

ATTEST:

MICHAEL J. LAGESSE, VILLAGE CLERK

APPROVED this 12 day of DEARMBER, 2016.

BRUCE ADAMS, VILLAGE PRESIDENT

ATTEST:

MICHAEL J. LAGESSE, VILLAGE CLERK

Secondary Second

STATE OF ILLINOIS	)	
	)	§§
COUNTY OF KANKAKEE	)	

I, Michael J. LaGesse, Village Clerk of the Village of Bradley, County of Kankakee and State of Illinois, DO HEREBY CERTIFY that the attached is a true, perfect, and complete copy of the Resolution Number R-12-16-1, "A RESOLUTION FOR THE MAINTENANCE OF STREETS AND HIGHWAYS BY THE VILLAGE OF BRADLEY UNDER THE ILLINOIS HIGHWAY CODE," which was adopted by the Village President and Board of Trustees at a meeting held on the 12 day of 120, 2016.

IN WITNESS WHEREOF, I have hereunto set my hand in the Village of Bradley, County of Kankakee and State of Illinois, on this 12 day of 022., 2016.

A STATE OF THE STA

MICHAEL J. LAGESSE, VILLAGE CLERK



# **GROUP EXHIBIT A**



## Resolution for Maintenance of Streets and Highways by Municipality Under the Illinois Highway Code

BE IT RESOLVED, by	the _	President and	Board of Trustees					of the
Village		of Bradley	(Council or P	resident and	Board of Trus	•	hat there is her	ohu
(City, Town or Village)	— "	n <u>brauley</u>	(Name)			, 111111015, 11	ilat tilele is ilei	Ena
appropriated the sum of	\$775	,000.00		lotor Fuel	Tax funds fo	or the purp	pose of maintai	ning
streets and highways unde	er the a	applicable prov	isions of the Illinoi	s Highway	Code from	_Januar		
to December 31, 2017		•					(Date)	
(Date)								
BE IT FURTHER RESC approved Municipal Estima with this resolution, are elig BE IT FURTHER RESC submit to the Department of expenditures from and ball BE IT FURTHER RESC	ate of I gible for DLVED of Tran ances	Maintenance Cor maintenance  or that the Clerinsportation, on remaining in the	costs, including sup with Motor Fuel T k shall, as soon a p forms furnished by ne account(s) for th	oplemental ax funds of practicable y said Dep nis period;	or revised during the particle after the clar eartment, a and	estimates eriod as s ose of the certified s	approved in conception approved in conception above the period as given attached attached as given attached as given attached att	onnection en above,
resolution to the district off					awa		, Illir	iois.
I Michael I I anges					Olarkia and	l fan ika	\ 60	
I, <u>Michael J. Lagesse</u>					Clerk in and	tor the	Village (City, Town o	r Village)
of Bradley			, c	ounty of	Kankakee	•	(Oily, TOIII)	
hereby certify the foregoing	g to be	a true, perfec	t and complete cop	oy of a res	olution adop	oted by		
the President and Board	i of Tri	ustees	at	a meeting	on Dece	mber 12,	2016	
(Council or Po	esident	and Board of Trus	stees)				Date	
IN TESTIMONY WHER	:EOF,	l have hereuni	o set my hand and	I seal this		_ day of		·
(SEAL)				Villag	je		Clerk	
		- · ·		(C	ity, Town or V	ilage)		
			Appro	ved		<del></del>		
			мррго	TGU				
		-	Date	<del></del>				
			Department of T	ransportati	ion			
			Regional E	ingineer		_		



#### Municipal Estimate of Maintenance Costs

					Le	ocal Pu	ablic Agency:	•	Village of Bradley Kankakee	
Maintenance Peri	od1/1/2017		to	12/31/2017			Section N	lumber:	17-00000-00-	 GM
	-			ted Cost of Mainter		Onai		<del></del>		
A/	laintenance		uilla	teu cost of mainter			I, IIA, IIB, or II		<u> </u>	Est Total
	Operation	Maint.	Insp.		Ť	GIOGP	1, 112, 110, Or 11	Unit	Item	Operation
(No	. Description)	Group	Req.	ltem		Unit	Quantity	Price	Cost	Cost
1.) Street Improve	ments	IV		See Attached BLR 11510					-	660,143.00
O) Cimin Doot 14	atariala () Handinas	14.4		0:			440.00	60.00	0.000.00	0.000.00
Z.) Signs, Post, M	aterials & Hardware	IIA		Signs - Complete	-+	Each_	143.00	69.93	9,999.99	9,999.99
		+			$\neg +$			_	•	_
									•	
									-	
									-	
		-	-		$\dashv$					
	<u> </u>	_			-					
							_		-	
								_		
			Щ							
•		_			-+				-	
			$\vdash$		<del>-</del>				-	
		1	$\vdash$		_					
									-	
									-	
			_						-	
		+	_		+				-	
		_			$\neg +$		_	-	-	
									-	
									-	
									-	_
		+								
		_		· ·	-					
		1		-				_		
ï								_	-	
									-	
		_							$\longrightarrow$	
					-				-	
		-			_		_		-	
				·-				_	-	
				<u>.</u>		T	otal Estimated	Maintenance	Operation Cost	670,142.99
	Estimated Cost	MÉT É	ortion	Other Funds	Prelimi	narv F	ngineering		34,457.15	$\neg$
Maintenance	670,142.99			670,142.99					39,608.58	
Maint Eng	82,065.73			82,065.73	Materia	al Testi	ng		8,000.00	
Totals:	752,208.72		-	752,208.72					-	
				<u>.</u> .	Bridge	Inspec	tions			
-						lota			gineering Cost intenance Cost	82,065.73 752,208.72
Submitted:				Аррго	wed:		TOTA.	Lymnated We	interior coot	102,200.12
	Municipal Official			Title				Regional Engineer	•	
	Date							Date		



Surface Type

Width

Route Various Streets

County Kankakee

Local Agency Village of Bradley

Section 17-00000-00-GM

#### (Construction) Estimate of Cost (Revised)

Location and brief description (Sta. at	and land description of beginning; Sta. only for end for county and road districts; stre	et limits for municipality.)
Hot Mix Asphalt Surface Removal,	, Prime Coat, Hot Mix Asphalt Surface Course Overlay, Concrete	

Curb & Gutter Remove & Replace, PCC Sidewalk Remove & Replace, PCC Driveway Remove & Replace,

HMA Patching, Inlet Reconstruction, and Pavement Marking.

Total Project Length	2200 feet		
Net Length	2200 feet		
 		 Bridge or Culvert	_
Shoulder Type		Length	
Width		Width	

Item No.	ltems	Unit	Quantity	Unit Price	Total Cost
1	HOT MIX ASPHALT SURFACE REMOVAL - 1 1/2"	SQ YD	9336	\$3.00	\$28,008.00
2	BITUMINOUS MATERIALS (PRIME COAT)	GAL	934	\$3.00	\$2,802.00
3	HMA SURFACE COURSE - MIX C, N50	TON	784	\$94.00	\$73,696.00
4	PCC CURB & GUTTER REMOVE AND REPLACE	FOOT	2351	\$60.00	\$141,060.00
5	PCC SIDEWALK, 5" - REMOVE AND REPLACE	SQ FT	13248	\$12.50	\$165,600.00
6	PCC DRIVEWAY, 5" - REMOVE AND REPLACE	SQ FT	4480	\$13.50	\$60,480.00
7	DETECTABLE WARNINGS	SQ FT	128	\$35.00	\$4,480.00
8	PAVEMENT PATCHING - FULL DEPTH	SQ YD	1695	\$95.00	\$161,025.00
9	MODIFIED URETHANE PAVEMENT MARKING				
9a	4" LINE	FOOT	520	\$0.60	\$312.00
9b	6" LINE	FOOT	808	\$1.50	\$1,212.00
9с	12" LINE	FOOT	108	\$3.00	\$324.00
9d	24" LINE	FOOT	30	\$6.00	\$180.00
9e	LETTERS AND SYMBOLS	SQ FT	94	\$6.00	\$564.00
10	INLET RECONSTRUCTED W/ NEW FR & GRATE	EACH	17	\$1,200.00	\$20,400.00
	<del>-</del>			<u>-</u>	
-					
				-	
	-				-
			_		
			_		
	☐ Page Total	Total Es	timated Cost		\$660,143.00
Made by	Joel Greer	Date _	11/15/2016	_	
Checked	by	 Date _		_	

Page 1 of 1 Printed on 11/14/2016 3:07 PM BLR 11510 (Rev. 7/05)